Name: K %4 MAC 2313 Quiz 1C (L1-L2), 1/23/25
J

Show all your work completely, and simplify your final answers.

1. [5 points] Let u = (3,6, —2) and v = (2,1, —5). Compute the following:

l.a [1 point] The vector u+v.

<6,b,’2.74"<2,1,—57 = <6,q',—’.].>

1.b [1 point] The vector u—2v.
{%0,-2)~-2L2%1,-6%
220,727 -<4,2,-10) = {-1,4, %)

l.c [1 point] The value |[u—2v|.

\‘("4)‘*4»(»‘.)7—4—(8)’- 2 \l{-l-‘(b{'bbl' "‘W = 9

1.d [1 point] The unit vector in the direction of u—2v.
L. - /4L r 0=Z
ARSI S < 4>4"5>

l.e [1 point] The vector of magnitude 3 in the direction of u—2v.
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MAC 2313 Quiz 1C (L1-2), 1/23/25

2. [4 points| Find the equation of a sphere in standard form that has center (1, —3,2) and
passes through the point (=5, —1,5).

(x-1)* +(13+3>1* (2-2) = ¢?
5-0%t (-1¢2)> x (5-2)" = ¥*
Yo ¥ 4+ q4 = 49 = y?

(x-1)* + (y+ 2)%+ (2-2)" - 44
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3. [1 point] What is your TA’s name? You will need this information throughout the semester.
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